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Calculate the volume of propane gas at 25.0 C and 1.08 atm required to provide 565 kJ of
heat using the reaction above.

1 - Convert the energy to moles propane using the thermochemical equation
2 - Convert moles propane to volume using the ideal gas law.

—2043 kI ~ mol Cg Hg
S65KT

2 0,12765S mol (o H ®
* 5 0d% ks ™ dTS

\/’;Y\({T Y\?-.O/’L'?(QSS mg\ C%H% Rzo’O%L06 L-abm

Yhu|'l«(
D T=L5.0° -~ 1LI5. Lk P= \, 0% A bim
V=277

\/ . 60,17633 mo C?DH%) (0.0%LOG Lmi\ ”’;{) (198 2,}\’>

6LTL propene veqyred /

IR




